E. JOHNSON STREET PATH, FIRST STREET TO THIRD STREET - 2013 STREET ACCOUNT NO. CS53-58240-810375-00-53W1246 STREET LIGHTS ACCOUNT NO. CS53-58545-810375-00-53W1246 CONTRACT NO. 6787

				RAYMOND P. CATTELL, INC.		SPEEDWAY BADGERLAND SAND & EXCAVATING GRAVEL, INC. INC.		POBLOCKI PAVING CORP.	COREX EXCAV. & CONSTR., LLC	JOE DANIELS CONSTR. CO., INC.
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID
	ACCOUNT NO. CS53-58240-810375-00-53V									
10701	TRAFFIC CONTROL	1.00	LUMP SUM	\$5,200.00	\$5,200.00	\$3,000.00	\$2,500.00	\$500.00	\$2,400.00	\$2,800.00
10802	ROOT CUTTING - SIDEWALK	25.00	L.F.	\$8.00	\$200.00	\$4.00	\$8.00	\$15.00	\$12.00	\$12.50
10911	MOBILIZATION	1.00	LUMP SUM	\$5,950.00	\$5,950.00	\$8,000.00	\$6,500.00	\$3,700.00	\$8,000.00	\$35,000.00
20101	EXCAVATION CUT	30.00	C.Y.	\$50.00	\$1,500.00	\$25.00	\$20.00	\$23.00	\$120.00	\$28.00
20202	FILL BORROW	50.00	C.Y.	\$15.00	\$750.00	\$25.00	\$10.00	\$23.00	\$26.00	\$14.75
20217	CLEAR STONE	120.00	TON	\$6.00	\$720.00	\$8.00	\$12.00	\$25.00	\$8.00	\$16.00
20219	BREAKER RUN	30.00	TON	\$10.00	\$300.00	\$12.00	\$12.00	\$30.00	\$8.00	\$15.75
21013	STREET SWEEPING	1.00	EACH	\$500.00	\$500.00	\$1,200.00	\$500.00	\$450.00	\$900.00	\$1,200.00
21021	SILT FENCE - COMPLETE (UNDISTRIBUTED)	300.00	L.F.	\$2.00	\$600.00	\$2.00	\$2.00	\$2.00	\$2.00	\$4.25
20221	TOPSOIL	1,150.00	S.Y.	\$3.00	\$3,450.00	\$3.00	\$3.00	\$3.00	\$5.10	\$5.60
20302	SAWCUT CONCRETE FULL DEPTH	150.00	L.F.	\$4.00	\$600.00	\$2.50	\$2.00	\$1.50	\$2.00	\$5.25
20501	ADJUST SEWER ACCESS STRUCTURE	1.00	EACH	\$300.00	\$300.00	\$450.00	\$500.00	\$200.00	\$230.00	\$375.00
20322	REMOVE CONCRETE CURB & GUTTER	150.00	L.F.	\$5.00	\$750.00	\$5.00	\$6.00	\$7.00	\$5.50	\$5.00
20323	REMOVE CONCRETE SIDEWALK & DRIVE	4,650.00	S.F.	\$1.25	\$5,812.50	\$1.25	\$2.00	\$0.50	\$1.20	\$1.95
20401	CLEARING	14.00	I.D.	\$15.00	\$210.00	\$25.00	\$20.00	\$22.00	\$20.00	\$25.00
20403	GRUBBING	14.00	I.D.	\$15.00	\$210.00	\$25.00	\$20.00	\$20.00	\$20.00	\$25.00
20701	TERRACE SEEDING	1,150.00	S.Y.	\$1.25	\$1,437.50	\$1.25	\$1.50	\$0.80	\$3.00	\$6.20
21011	CONSTRUCTION ENTRANCE	3.00	EACH	\$50.00	\$150.00	\$150.00	\$500.00	\$250.00	\$200.00	\$950.00

E. JOHNSON STREET PATH, FIRST STREET TO THIRD STREET - 2013 STREET ACCOUNT NO. CS53-58240-810375-00-53W1246 STREET LIGHTS ACCOUNT NO. CS53-58545-810375-00-53W1246 CONTRACT NO. 6787

				RAYMOND F	P. CATTELL,	SPEEDWAY SAND &	BADGERLAND EXCAVATING,	POBLOCKI	COREX EXCAV.	JOE DANIELS CONSTR. CO.,
				INC.		GRAVEL, INC.	INC.	PAVING CORP.	LLC	INC.
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID
21055	INLET PROTECTION, TYPE D HYBRID - COMPLETE	11.00	EACH	\$140.00	\$1,540.00	\$140.00	\$125.00	\$60.00	\$110.00	\$120.00

E. JOHNSON STREET PATH, FIRST STREET TO THIRD STREET - 2013 STREET ACCOUNT NO. CS53-58240-810375-00-53W1246 STREET LIGHTS ACCOUNT NO. CS53-58545-810375-00-53W1246 CONTRACT NO. 6787

				RAYMOND P. CATTELL, INC.		SPEEDWAY SAND & GRAVEL, INC.	BADGERLAND EXCAVATING, INC.	POBLOCKI PAVING CORP.	COREX EXCAV. & CONSTR., LLC	JOE DANIELS CONSTR. CO., INC.
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID
21061	EROSION MATTING, CLASS I, URBAN TYPE A	1,150.00	S.Y.	\$1.80	\$2,070.00	\$1.80	\$1.75	\$0.90	\$1.90	\$2.25
30201	TYPE "A" CONCRETE CURB & GUTTER	150.00	L.F.	\$20.00	\$3,000.00	\$28.00	\$28.00	\$38.00	\$23.50	\$24.75
30301	5" CONCRETE SIDEWALK	2,150.00	S.F.	\$3.00	\$6,450.00	\$4.00	\$4.00	\$5.00	\$4.60	\$5.60
30302	7" CONCRETE SIDEWALK AND DRIVE	950.00	S.F.	\$4.00	\$3,800.00	\$4.50	\$5.00	\$6.50	\$5.10	\$7.45
30340	CURB RAMP DETECTABLE WARNING FIELD	88.00	S.F.	\$25.00	\$2,200.00	\$35.00	\$20.00	\$50.00	\$28.00	\$28.50
40101	CRUSHED AGGREGATE BASE COURSE, GRADATION 3	450.00	TON	\$17.00	\$7,650.00	\$16.00	\$15.00	\$20.00	\$18.00	\$16.00
40202	HMA PAVEMENT TYPE E-1	115.00	TON	\$91.25	\$10,493.75	\$91.00	\$92.00	\$120.00	\$92.00	\$80.00
60801	PAVEMENT MARKING EPOXY, DOUBLE LINE, 4-INCH	115.00	L.F.	\$0.60	\$69.00	\$0.60	\$1.00	\$1.20	\$1.00	\$1.02
60803	PAVEMENT MARKING EPOXY, LINE, 8-INCH	480.00	L.F.	\$0.60	\$288.00	\$0.60	\$1.00	\$1.20	\$1.00	\$1.13
60814	PAVEMENT MARKING EPOXY, CROSSWALK, 12-INCH	80.00	L.F.	\$1.20	\$96.00	\$1.20	\$7.00	\$8.40	\$8.00	\$4.35
60816	PAVEMENT MARKING EPOXY, CONTINENTAL CROSSWALK, 18-INCH	230.00	L.F.	\$1.20	\$276.00	\$1.20	\$7.70	\$9.20	\$8.00	\$5.75
60817	PAVEMENT MARKING EPOXY, ROUNDABOUT EDGE LINE, 18-INCH	30.00	L.F.	\$1.20	\$36.00	\$1.20	\$7.70	\$9.20	\$8.00	\$6.00
60818	PAVEMENT MARKING EPOXY, STOP LINE, 24-INCH	13.00	L.F.	\$3.00	\$39.00	\$3.00	\$7.90	\$9.00	\$8.00	\$6.35
60822	PAVEMENT MARKING EPOXY, SYMBOL, BIKE SHARROW	3.00	EACH	\$69.00	\$207.00	\$69.00	\$100.00	\$120.00	\$100.00	\$125.00
60823	PAVEMENT MARKING EPOXY, SYMBOL, BIKE LANE	2.00	EACH	\$46.00	\$92.00	\$46.00	\$140.00	\$168.00	\$150.00	\$120.00

E. JOHNSON STREET PATH, FIRST STREET TO THIRD STREET - 2013
STREET ACCOUNT NO. CS53-58240-810375-00-53W1246
STREET LIGHTS ACCOUNT NO. CS53-58545-810375-00-53W1246
CONTRACT NO. 6787

				RAYMOND P. CATTELL, INC.		SPEEDWAY SAND & GRAVEL, INC.	BADGERLAND EXCAVATING, INC.	POBLOCKI PAVING CORP.	COREX EXCAV. & CONSTR., LLC	JOE DANIELS CONSTR. CO., INC.
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID
60826	PAVEMENT MARKING EPOXY, SYMBOL, BIKE LANE & STRAIGHT ARROW	1.00	EACH	\$81.00	\$81.00	\$81.00	\$140.00	\$168.00	\$150.00	\$220.00
60882	PAVEMENT MARKING REMOVAL, 8-INCH	330.00	L.F.	\$3.00	\$990.00	\$3.00	\$1.20	\$1.40	\$1.30	\$4.50
90001	ADJUST INLET WITH SPECIAL CASTING	1.00	EACH	\$1,650.00	\$1,650.00	\$950.00	\$750.00	\$350.00	\$2,500.00	\$2,300.00
90002	TREE PROTECTION	7.00	EACH	\$50.00	\$350.00	\$80.00	\$50.00	\$160.00	\$120.00	\$130.00
	SUBTOTALS			-	\$70,017.75	\$74,759.00	\$76,938.20	\$79,084.00	\$86,447.00	\$126,425.75
STREET LIGHTS ACCOUNT NO. CS53-58545-810375-00-53W1246										
60407	CONSTRUCT LB-8 BASE (11" Bolt Circle)	2.00	EACH	\$1,000.00	\$2,000.00	\$1,355.00 	\$1,250.00 	\$600.00 ======	\$1,200.00 ======	\$1,650.00
CONTRA	ACT TOTALS		\$72,017.75	\$77,469.00	\$79,438.20	\$80,284.00	\$88,847.00	\$129,725.75		